
 I The angle pep cos
DE
tEI t

wi't'Itif
66 630

2 We know the area of a triangle

A fsfs allsbfs.cl
where a b c are three sides and s atht
Putting A 15 am a 15 am be 9am we find

C 21 708 un or 18 572 um

The angle O is given by cost a't

300 or 1500



3 Lets the three sides be a b C Here a 42m 6 51 m

and 0 680

we know cos0 1 2

We find c Jaltbl2aboost 52.538 m

Now using ant g sfo
B sin I sin 0 6401640

A sin q sin 0 47 837



4 We find the angle RST 1800 210 970
60

Now we use the following formula

sinCIRSTT singer
on Rt Rsx fifty

12 1957 10 970

5 3 tan't 1 0 or tant I f
Taking fanD I 0 1500 300

taking tant I 0 300 1500

6 We know

Y

Ii
z n so Lx sin I sinLY



or In sin gigot x sin420

58.804

22 1800 LX LY 180 58 804 420

79 196

Lets take 1421 3 70 12 1 4 73

then ex sin Ey since

or In sin x sin420

315620

22 1800 420 31 5620 206 438



From the figure we find

172 7

É or I wtf
and he L sin720

tan 72

i The area of the triangle x2xh

tan720

The area of the decagon 10 tan720

30 777 unit


